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Question 1

Question Type: MultipleChoice

Consider the following diagram, which conforms to a standard ArchiMate viewpoint that uses a simplified notation:

age Nnot d or type unknown

To which standard ArchiFvlate viewpoint does this diagram conform?

Options:

A) Elementary viewpoint
B) Introductory viewpoint
C) Coherence viewpoint

D) Deciding viewpoint

Answer:

B



Question 2

Question Type: MultipleChoice

Which of the following best describes why ArchiMate supporls specialization of concepts?

Options:

A) Itis the only way to model enterprise architectures that are useable and easy to communicate to the stakeholders
B) It is needed to represent the same concept on different viewpoints

C) It provides extra flexibility, enabling users to customize the language to their own preferences and needs, while maintaining the
underlying precise definition of the concepts

D) It is allowed because without this mechanism it would be impossible to add attributes to ArchiMate concepts and relations

Answer:

C

Question 3

Question Type: MultipleChoice




i I i Document Archiving

Application The Document Archiving application relies on an archiving service, which it accesses through a reliable queuing interface.

age not d or type unknown

Which relationship would most accurately describe this situation?

Options:

A) Assignment
B) Realization
C) Used By

D) Triggering

Answer:

C

Question 4




Question Type: MultipleChoice

The following is an example model for the ArchiFvlate Service Realization viewpoint:

age not d or type unknown

Which stakeholder concerns does the Service Realization viewpoint address?

Options:

A) Added value of business processes, consistency and completeness, responsibilities
B) ldentification of competencies, authority and responsibilities
C) Application dependencies, performance, scalability

D) Structures and dependencies of the used data and information

Answer:

A

Question 5




Question Type: MultipleChoice

Which two concepts from the generic ArchiNlate metamodel represent the external view on a system?

Options:

A) Services and components
B) Service and interface
C) An active siructure element and interface

D) A behavior element and interface

Answer:

B

Question 6

Question Type: MultipleChoice

The following is an example model for the ArchiFvlate Service Realization viewpoint:



age not d or type unknown

Which stakeholder concerns does the Service Realization viewpoint address?

Options:

A) Added value of business processes, consistency and completeness, responsibilities
B) ldentification of competencies, authority and responsibilities
C) Application dependencies, performance, scalability

D) Structures and dependencies of the used data and information

Answer:

A

Question 7

Question Type: MultipleChoice

I 1 i Document Archiving



Application The Document Archiving application relies on an archiving service, which it accesses through a reliable queuing interface.

age not d or type unknown

Which relationship would most accurately describe this situation?

Options:

A) Assignment
B) Realization
C) Used By

D) Triggering

Answer:

C
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